Cal. Ment. n °

Addition des nombres décimaux. 6 A

Rappel : 3 techniques.

A/ 178,7 + 424,6 = (100 + 400) + (78 + 24) + (0,7 + 0,6) = 603,3
102 
1,3

B/ 178,7 + 424,6 = (178,7 + 0,3) + (424,6 – 0,3) = 603,3




179

424,3
C/ 178,7 + 424,6 = (178,7 X 10) + ( 424,6 X 10) = 603,3
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    10
1787
+
4246
=  6033   = 603,3
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  10
      10

Exercices

Technique A :

15,6 + 3,78 = 

58,2 + 2,25 =

9,7 + 22,85 =

18,4 + 49,95 =

239,2 + 49,25 =

7,1 + 41,52 = 

9,3 + 43,67 = 

7,1 + 65,76 = 

17,3 + 0,5 =

59,5 + 8,42 =

Technique B :

61,3 + 195,63 = 

74,9 + 619, 81 =

74,6 + 265,84 = 

42,3 + 954,58 = 

62,7 + 523,37 = 

83,5 + 548,17 = 

24,7 + 216,56 = 

56,4 + 795,31 = 

18,3 + 538,98 = 

64,9 + 505,32 = 

Technique C :

63,57 + 19,6 = 

782,94 + 62,5 = 

764,12 + 26,6 = 

432,37 + 95,4 = 

674,42 + 52,3 = 

845,89 + 54,8 = 

267,73 + 21,7 = 

541,15 + 79,5 = 

127,54 + 53,9 =  

681,83 + 50,5 = 

500








